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Question Number : 1 Question Id : 3354725931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who was the first woman Governor of Madhva Pradesh? | B2 USa &1 Ugail Al (g0l & 217

Options:

1. % Sarojini MNaidu | 8T A
= % Sarla Grewal | HTAT UaTe

3. % Nirmala Bhuj | e s

4. % Draupadi Murmu | 30aT g5

Question Number : 2 Question Id : 3354725932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
who laid the foundation of research in statistics in India? | YRT § GiEah] § SgEUM & o] Tid e @7

Options:

1. ¥ CR. Rao | gfamad

2. % R.A. Fisher | 30T

% % E.5. Haldane | 94T 0a.5ea"

4. % P.C. Mahalanobis | o @ AgTA e

Question Number : 3 Question Id : 3354725933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who among the following accepted Akbar's Din-i-Ilahi? | 79 # & o= affe & SH-U-SAR T T T dar?

Options:

1. ® Tansen | =99

2. ¥ Eirbal | ¥¥aa

% % Todar Mal | TEAA
4. % Man Singh | A9 &g

Question Number : 4 Question Id : 3354725934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which Indian scientist was honored by GDOglE Doodles on hisfher 100th birth anniversary in Septernber

20177 | T R 1 dATHE B A S80d o [der 2017 H et 100 =t 126 T 0T GFar-g T ar?
Options:

1. ® satyendra MNath Bose | Sq2-g A/ a9

2. ¥ Asima Chatterjes | ST Tl

3. % Srinivasa Rarmanujan | A-am Turg=e

4 % Begumn Akhtar | =TT 3Rg.TY

Question Number : 5 Question Id : 3354725935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who among the following is the first Indian to score fifty international goals in football? | PRI A g ag o=
o 4t w—sﬁﬂ% =T & T T ATAT U] HHd 17 57

Options:

1. % .M. Vijayan | &M, un. o=
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2. ¥ Sunil Chhetri | G1a 547
3. % Subrata Pal [ ged o1

4 % Baichung Bhutia | asg e

Question Number : 6 Question Id : 3354725936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

What is the name of all-worman expedition of Indian Navy that set sail on 11 Septernber 2017 aimed at
C1rt:uﬂmav1§7_é1%1g tge globe“«' ﬂﬂﬂ%:ﬁﬁm%ﬁ TR HigeT STTHT 7 0 T g, A1 o 11 ave 2017 B g w o
freal mﬁa’

Options:
1. ® Mahila Sarmudra Yatra | Aigar 9gg aET

2. % Navika Sagar Parikrama | =< A0 9w
= % INari Shakti Abhiyan | AT o 8=
4. % Nari Sagar Pradakshina | AT @R Te 40T

Question Number : 7 Question Id : 3354725937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhich of the following is the capltal of the Union territory of Dadra and MNagar Haveli? | FAfeas & & 19 |4
TTEAT Y T 5aell & HE%U AT 57

Options:
1. % Dadra | g8

= ¥ Silvassa | wEamEr
3. % Nagar Haveli | A7 galell
4 % Port Blair | UF e

Question Number : 8 Question Id : 3354725938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Oé)ﬁéatmn Insanivat’ isa pr-::- ramme launched by Government of India to hel fugees from which country?
ToIT AT T ey TR ST o7 FTOwA %

Options:

1. % 5riLanka | &t @

2. % Myanmar | FIHT

% % Bangladesh | aTaa

4 % Tibet | fdead

Question Number : 9 Question Id : 3354725939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘Bhangra’ is the popular dance form of which one of the following states? | fraferfaT & & e TR #1 @ T
Options:

1. % Punjab | 7=

2 #® Jharkhand | gIRES

3. % Kashrrir | #adiX

4. % Rajasthan | eI
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Question Number : 10 Question Id : 3354725940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Palakmati, the first irrigation tank of the erstwhile Bhopal State, is located in_____ .| OE AT T W R e
H w9 21

Options:

1. ¥ Raisen | &

2. % Shahpura [ SEYT
% % Umaria | SAfm
4. % Bhopal | AT

Question Number : 11 Question Id : 3354725941 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The most populated city in Madhva Pradeshis_______ | T VAT T W SITHe STeTa o SR 2l

Options:

1. % Jabalpur | St
2 % Indore | 2T

3 % Gumalior | @GR
4. % Satna | qaqr

Question Number : 12 Question Id : 3354725942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Cne of the 12 Jyotirlingas of India is in

Options:

1. % Mahakaleshwar | AETETEFET
2 % Mukteshwar | Gweew

% % Videshwar | [

4, ¥ Yogeshwar | TTFE

Question Number : 13 Question Id : 3354725943 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
When was the Bagdara Wildlife Sanctuary established? | SHTE dwa=1d SR &1 TT0T Fel 58 417

Options:

1. ® 1988
> ® 1977
3. % 1980
4. ¥ 1978

Question Number : 14 Question Id : 3354725944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is the Alkaloid factory located in Madhya Pradesh? | A WS H Ie@ 1SS HREFT F51 €04 57

Options:

1. % Neemuch | e
2. % Ratlam | ¥ddH
% % Ujjain | 3=
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4. % Mandsaur | TET

Question Number : 15 Question Id : 3354725945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Samadhi of Rani Durgawati is situated at _______ . | T grTierdt ot AT

Options:

1. % Jabalpur | S&Eeyt
2. % Damoch | ZAE

3. % Satna | Gadr

4 % Seoni | IEIHT

Question Number : 16 Question Id : 3354725946 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The temple of Budhi Mai in Dindori is situated on the bank of the river

51 3 R T I 2)

Options:

1. % Budner | g3
= ® Narmada | 9827
3. % Sudna [ 93T

4. % Goura | TRT

Question Number : 17 Question Id : 3354725947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhere is the famous Jain pilgrimage centre Muktagiri located? | WiHg == o 27T g RN #51 9T 57

Options:
1. ¥ Betul | =ga
2. % Dindori | e

3. % Burhanpur [ gigMHYY
4 % Rewa | T&T

Question Number : 18 Question Id : 3354725948 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The famous holy place, Kedarnath is located in______ | g Ol T, SeRA, H e
Options:

1. % Uttar Pradesh | 3qa¢ a5

2. % Madhvya Pradesh | T near

3. ¢ Uttarakhand | Sqa0Es

4. % Odisha | I2TT

Question Number : 19 Question Id : 3354725949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which among the following awards is given to sportspersons by the Government of Madhva Pradesh? |

THRAET [EeR! § & 9 &7 Ted Ued TR g1 [Eansal @1 g mar g7

Options:
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1. ® Arjuna Award | SR JERR

2 ¥ Vikram Avward | ST e

3 % Dronacharya Award | 3R REER
4. % Laxman Award | #ER TR

Question Number : 20 Question Id : 3354725950 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The King Edward Museumn building in Ehopal was built by ____. | \0A § 741 U2 aUg&g 98 _______ FALAI
el T TTET 2

Options:

1. ¢ Nawmab Sultan Jahan Begurn | SaTe Gefd ™ =5 &0
2. % Lord Minto | #12 fHer

3. % Sajida Sultan | TIET A=

4. % Sultan Muhammed Khan | Jea JgqAs 94

eneral Maths and General Aptitude

Section Id : 335472159

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section |d: 335472159
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354725951 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The average age of a family of & i5 20 vears. If the oldest is 70 vears, then what is the average age of the

rem%iningpeople?IEW%W%WWSDEJ@% oI UTa & Fel gt 70 99 & 5, 97 ST A AT
T 3

Options:

1. % 16 vears | 16 a9
2. % 2Svyears | 2594
= ¥ 20 vears | 20 99
4, % 32 vears | 32Oy

Question Number : 22 Question Id : 3354725952 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Aman is driving to Babu's house wanting to reach at the exact timme. If he drives at 60 krmfh, he will arrive 5
rrinutes late. If he drives at 90 kan/h, he will arrive S mmutes earlgr If he drives at 1 kmnfh, he will arrive
exactly on tirme. What is the value of n? | S/ 951 THA U Uga- %ﬁmfﬁr aﬁ?ﬂ@am?@% aﬁqarg’ £0
AT TRT W Me T aAaT s, AT TE 5 ﬁﬁfaﬁﬁm Tty @ 90 ﬁﬂfﬂ"ﬂﬂﬂ? AT 3 91 a5 5 e mge! g S 4
g 11 TorHil BT W ST IHET B, 9 o Teeger 9e T GHE 0 Uge S 1 T T 2T 27

Options:
1. %75
2. % 30
2% G5
4 W 72

Question Number : 23 Question Id : 3354725953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& letter is chosen from the word “TRIANGLE”. What is the probability that it is a consonant? | &g "TRIANGLE"
e 215 AT TIT 81 T WTAehd T 5 27 9% U oA 57

Options:

7
8

ool | =

ol

4.
Note: For this question, discrepancy isfound in question/answer . So,this question isignored for all candidates.

Question Number : 24 Question Id : 3354725954 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What power Df% do we get dividing 56 by 515?;’ 5% & 510 fasnfarg &¢er W gH %EFI'

T °Td 9Tcd gidT &7

Options:
1
5
1. % 7
1
5:
2
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1
T
3 v

4 % 1

Question Number : 25 Question Id : 3354725955 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

1232-1222 =7

Options:

1. ¥ 235
= ¥ 245
3. % 225
4. % 215

Question Number : 26 Question Id : 3354725956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Find the average. | g Faiem
15, 15, 54, 12, 41

Options:
1. % 24
= ¥ 2B
3. % 32
4 % 34

Question Number : 27 Question Id : 3354725957 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
x2—1
e e

?

Options:
1.%1
= ®ox
3. ¥ x+1

4 % x-1

Question Number : 28 Question Id : 3354725958 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The two-third of one-half of a number is 18. Find the number. | T T%7 & ST 2-T05E 15 31 9591 95 F90

Options:
1. % 45

2. ¥ 54
3. %9
4, % 38
22nd Dec17 Shift 2



22nd Dec17 Shift 2

Question Number : 29 Question Id : 3354725959 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If a*b = a® + 2ab + b, then (1*2)*3 is /TTE a*b=al+2ab+b, Al (1*2)*3 &l

Options:
1. % 59

2. ¥ 94
2% 91
4. % 490

Question Number : 30 Question Id : 3354725960 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In a town of 251 adults, every adult owns a car, motorcycle, or both. If 221 adults own cars and 45 adults
owr motorcycles, then how many of the car owners do not own a motorcycle? | 351 SOem! o UF 50 H, Todw
e ST o UTE 1L, ATCCETg el I1 i1 5] Al 331 ST & UTH F ST 45 SOEh! & UTH HICTHTS 1200l &, o1 3 HW HTieTR]
T T Tt & R o Weran e et &

Options:
1. % 25
2. % 35
3. ¥ 206
4. % 296

Question Number : 31 Question Id : 3354725961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘ihi'ha%t?E the probability of getting a king in a pack of 52 cards? | 52 U & WHg (F150) & U T7 WTH 514 & AT
T

Options:

Question Number : 32 Question Id : 3354725962 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A train 110 mlong ﬁf s5e5 a pole in 2 seconds. The tirne taken by the train to pass a platform 165 mlong

is [ T 110 T LTS U W 1 3 990 H U Fd T 51 165 AT olel toeB1H #1011 § LeTaT &#1

Options:
1. ® 45 ger [ 45 dF0=

o % ggec | odHTIZ
2. % 7 Ssec | 7.5 OEIE
4 ® 12 gec | 12 990

Question Number : 33 Question Id : 3354725963 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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The efficiencies of two workrmen A and E are in the ratio of 5:4, respectively. If A can do a piece of workin 12
hours, then B can do it in: | & ST E, S ATH®T &7 §ATT S0 54 % argu # B i & Tt @ &7 12 98 § 9 a9 &,
ITE =9 Topae oAt o Aaar &

Options:

1. % 18 hours | 1898

2. % 165 hours | 16.59¢
3. % 16hours | 16 ¢

4 % 1S hours | 15 98

Question Number : 34 Question Id : 3354725964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Atul is 30 years older than his son. In 5 years, his age will be 2.5 times of the age of his son. The present age
of the son is: | A SN qF 30 e G278 S a9 |, aﬂgﬁmaﬁgﬂfﬁr ST T 2.5 T[T 51 SN G 1 ad /1 aﬂ'g%:

Options:

1. % 10 vears
2. 9 15 vears
3. % 20 years
4. % 25 years

{10
| 15 a9
[ 20T
| 25 ag

Question Number : 35 Question Id : 3354725965 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the HCF. of two numbers is 5, their L.C M. is 165, and one of the nurmbers is 55, then the other number is:
| AT S T T T GHITecd 5 B, I FYO qAecd 1685 8 UE IH # U 91 55 B, 91 g dar g

Options:
1. %5
=z ¥ 15
3% 75
4. % 2475

Question Number : 36 Question Id : 3354725966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If 22x3%x53xk is a perfect square, then the least value of kis___ ./ TTg 23x3 =33 =k Ueh ‘E[\Uff aar

gl k & ogaldd AT B
Options:
1. %7
= ¥ 20
3% 25
4 % 15

Question Number : 37 Question Id : 3354725967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
(59)*°-1 is exactly divisible by: / (59)'¢-1 fele=Tq@RT qoT faear=4r &
Options:

1. %= E1
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2. ¥ B0
3% 39
4 % 33

Question Number : 38 Question Id : 3354725968 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

In a jewellery shop there are 50 necklaces, out of which 10 are pure diamond sets. What is the probability that
the custorner will choose diarmond set when picked randormly? | T STRIE0T & oo T g &, FRE 9 10 42
BI¢ o HE §) g d o gl T e AT Wi ginl e g %ﬁﬁﬁ?aﬂ-‘rw%

Options:

3
1. %

e

l)‘ql}—l

—_

Question Number : 39 Question Id : 3354725969 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Sabita rides a racing cycle at 10 km/hr towards Pinky’s house which is at a distance of 30 km. On the way
back she rides at a speed of 15 km/hr to reach home. What is her average speed? | @fedT 30 fral & g 0T 26T
Tofeh o W€ @ &1T 10 TeRalty TeT & 16T | fehet e 11 51 ST T Uy o Tely ot 7l f o 15 forst e &1 g &

HTE e T 31 Jeeh! T M &/ &7

Options:
1.9 12 kmthr

2. % 15 kmjhr
3% 20kmthr
4 % 25 kmjhr

| 12 Trdt geT
| 15 Tt EeT
| 20 Trdt EeT
| 25 Tt EeT

Question Number : 40 Question Id : 3354725970 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the CF of € iterns is equal to the SP of seven times, then what is the profit or loss percentage? | aig 6 seqal
T T G, 7 aeql & Tl U o aRTea] g, a7 /T A7 21 Wi wam 27

Options:

1.9 14.28%loss | 14.28% g1
= ® 9.09%profit | 9.09% AW
% % 7.14%loss | 7.14% g

4. % MNone of the above | I0d® # & ®1E T51
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General Hindi

Section Id : 335472160

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472160
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354725971 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ty ot 3 g & v & AT AE g S s ¥ -

Options:

1. % oy
= % ggTHT
3. ¥ STEmT
4. % e

Question Number : 42 Question Id : 3354725972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ool ST HT-EF ATHT &2 &7
Options:

1. % Zaammr

o ¥ g A

= ® g

4 % Fr qmT

Question Number : 43 Question Id : 3354725973 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T et oF I H U AT & ST THT T S, S #Rd & -
Options:

1. g &y

= W EEg T

3. % aEEr

4 % AT
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Question Number : 44 Question Id : 3354725974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ToreT Aleq H U=IHTAY T 0T A5 1 57
Options:

1. % Haer

2 % g

3z % gz

4 ¢ U

Question Number : 45 Question Id : 3354725975 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
=H o Taa e see | -

Options:

1. % g
2 % g
3 ¥
4. % Ogd

Question Number : 46 Question Id : 3354725976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“HETed o viaar’ g # & @i | e

Options:

1. % wamdt
2 ¥ fda
3. % ard
4 % Frr

Question Number : 47 Question Id : 3354725977 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AT L BT AR FAATET & (o U g T O & &1 A7 27

Options:

1 % mw
2. % oY
3 ¥ AT
4 % gzid

Question Number : 48 Question Id : 3354725978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

" STCEH T ATy e g # # Wi A ge
Options:

1. % adt+ a7

2. % 81T + FaH

3. % g + O

4 & afd + TR
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Question Number : 49 Question Id : 3354725979 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

I w A deg MR E @ AT e
Options:

1. ¥ uea

2 ® arguer
= ® amaf
4. % qIgr

Question Number : 50 Question Id : 3354725980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“BTEr U G ST e T H W @ 57

Options:

1. ¥ apfeee
2 % arfdemie
3. ® FrEdid

4 # aridamr

Question Number : 51 Question Id : 3354725981 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ARTET deg § T # & @ | w8

Options:

1. ¥ Jocqey 9Hg
2 T EEE

3. ¥ FHawg A

4, ® ity gumg

Question Number : 52 Question Id : 3354725982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘et O |1 AreAT Here @ onf T H g e ar gy

Options:

1. ® gz or g AT
2. % geg g

3. % ogq GQUEHT

4. & ggAT

Question Number : 53 Question Id : 3354725983 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TA-TGd T 5 &0 g B FHT ATE7
Options:

1. % q9-1279

Z ® O9-TEd

3. ® ga-TTT
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4, & TET

Question Number : 54 Question Id : 3354725984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TAH W F T FT qTTT A5 57
Options:

1. g

o ® Tt

= ® e

4 ® Homr g

Question Number : 55 Question Id : 3354725985 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

"SI ST H AT, W ST SR
H I AT SAw R 5 5l fowend g7
Options:

1. % JouyT aEa

2 R T ATFHET

3. ¥ STWTE SIEET

4. ¥ o7 IeAwR

Question Number : 56 Question Id : 3354725986 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

JUH AT Meg T — AU
Options:

1. Ty

= % iy

2 % guy

4 ® gl

Question Number : 57 Question Id : 3354725987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T | U STHTEE Seg, 1 0T Far a1y, S9H 1 A1 90 & - fAi-fed a5 39 @ Tieae o7 amt agar e
Options:

1. % gy aue

2. % JoyEy gA
I ¥ ATCIET 9T I
4 ¥ FrawT guRT

Question Number : 58 Question Id : 3354725988 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
IeeET Uil H BT AT T -
T Yo o S 9, §IC g9 H /1 A7)
=T WE TENTE o | Tl e T i)
Options:
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1. ¥ argd
2 % g
3. ® FHE I
4 % g

Question Number : 59 Question Id : 3354725989 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

22nd Dec17 Shift 2

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
SITTTE T TGS HTel & -
Options:

1. % ot

2 VT

3 % dw

4.3334%3'

Question Number : 60 Question Id : 3354725990 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

o # P & A A £

Options:

1. % Tqo7 &y
=, o ghg afer
3. % o7 HTEr
4 ® sl |t

Section Id :
Section Number :
Section type:

Fural Econorry and Panchavati Eaj

Mandatory or Optional:
Number of Questions:
Number of Questionsto be attempted:

Section Marks:

Display Number Panel:
Group All Questions:

Question Number : 61 Question Id : 3354725991 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Sub-Section Number:
Sub-Section 1d:
Question Shuffling Allowed :

335472161
4

Online
Mandatory
20

20

20

Yes

No

1
335472161
Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Madhva Pradesh Fural Livelihoods Project (MPRELP) is implemented with the active grassroots participation of
__________ | TR UCST TIHIOT ST TefenT OTea =T (A R e ) ﬂ'ﬂ%ﬁ

FIT el ToraT T2 31
Options:
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1. ¢ Gram Sabha | om0 &7

2. % Engineering Colleges | S T=ieIT Hiart
% % Zila Panchavat | FaT e

4. % Employment exchanges | TR ®TIET

Question Number : 62 Question Id : 3354725992 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What are the rules applicable to Samvida Shala Shikshak emploved by Janpad Panchayat or Zilla Panchayat,
as the case may be, for the schools under their control? | UG F=Tad ST M1 G=Tad BRI i dicer AT ey
T AN e B, e 39 oat o ST 34 HaE | Hene g g

Options:
1. ¥ Madhya Pradesh Contract Teachers Rules 2005 | HEd TEH Fl-ede 2 2d T 2005
2. % Madhva Pradesh Panchayat Teachers Rules 2005 | 7 W8 =T < ®od, 2005

z. ¥ Madhva Pradesh Fanchayat Samvida Shala Shikshak Employment and Conditions of Contract) Rules,
2005 | HeT U G AfeeT aTar fEryer (i 2 aigeer 0d o) 04, 2005

4. % Madhva Pradesh Zila Panchavyat Shikshak Nivarm, 2005 | A T2 F@T vemae iy =W, 2005

Question Number : 63 Question Id : 3354725993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How manv Regional Rural Eanks are there in M P catering to agricultural credit needs? | e wdsr § Topg= g1
uﬁwﬂw%‘q‘rigﬁﬂfmﬁwmﬂ T & 57

Options:
1. % 2
2. ¥ 3
3 % 4
4 ¥ g

Question Number : 64 Question Id : 3354725994 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MName the highest award of Indian Government won by Madhya Pradesh 4 times consecutively? | ART TR &
T el YUERT T AW S50 AT Hed Toel GRT Aa W 4 s 7Ty ferm e

Options:

1. % Kisan Sri Puraskar | T i geewm

2. % Krishi Ratnia Puraskar | Y @ [EE@

3. ¥ Krishi Karman Puraskar | F8 &6 ek

4 % Krushak Bharati Puraskar | F9e dWd [ LR

Question Number : 65 Question Id : 3354725995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

what is the source of finance under Swarna Jayanthi Grarm Swarozgar Yojana? | e <d [ UTH TR T FiT o
ST o FiT T 87

Options:

1. ® Loans taken from rural money lenders | UTHITT AgeRl & Tt mar 2
2. % Donations given by villagers | T ZRT 247 =T 29

3. ¥ Bank credit and governrment subsidy | €@ Fiae T97 @@ aRgH
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4, % Loans given by relatives | Haterat @y faar mar s

Question Number : 66 Question Id : 3354725996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What has een named as ‘DISHA' b‘}.? the MiﬂiStI“}F of Fural DEVElOmeﬂt, GOl T ﬂ ) am q J-i:ilﬁfl*ﬂ, AT FLERT
T e 'DISHA' A7 o mar 27

Options:

1. # Dairy Development Co-operative Societies | STWT SaaTHe - g

2. % apgricultural Produce Marketing Council | Uiieel TEgd ik e 1T wd e

=, ¥ District Development Co-ordination & Monitoring Committee | EiEead Saaude F1- T -19H UZ AT 1T FH T

4 % Rural Development Institute of the government | & Saauis 56 1&g STE § Taxde

Question Number : 67 Question Id : 3354725997 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A5 per Human Development Report 2015, India’s HDI rank is ______ -} w faewra foid 2015 % arfdaw, R &7
Uﬂé L B
Options:

1. % 129th | 1267
2. ¥ 130th | 130ar
3 % 131st [ 1314m
4. % 132nd 13290

Question Number : 68 Question Id : 3354725998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the followin irrigation schemes was launched in 2015 with an outlay of Bs. 50,000 Crores? | 2015
ﬁﬁﬁﬁﬁﬁﬁﬁﬂﬁﬁﬁ%ﬂﬁw 3[& T T2 <t FaegaT aivedsr 50,000 &9 IS o717

Options:

1. % accelerated Irrigation Benefit Programime | TFHACE ST ai-he THTH
2. % Pradhan Mantri Krishi Sinchayee Yojana | We=HAT T E=TE TH=-T

= % Pradhan Mantri Krishi Vikas Yojana | WA= §Y S T=-1

4. % Integrated Watershed Management Programime | 5eUes dletds Aade mimmH

Question Number : 69 Question Id : 3354725999 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Madhva Pradesh Regulation of Uses of Land Act was enacted in _____ | AT WA s arferen @ Suei
[GEEC) o arfarfratie few mmam am

Options:

1. % 1927
2 ¥ 1945
3 % 1958
4, % 1975

Question Number : 70 Question Id : 3354726000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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For organic materials or crop residue composting, ideally a moisture level of _______ water by weight is
required for optimal microbial nutrient and air circulation. | HTe = GERIT 9T HEw st & Wy =@, e w0 d
_______ TAF T U THT BT €T, ST o AR, SETH A5k e del e dod A a1 Haller & ol SITarasrsr 2]

Options:

1. ¥ 20-30%

= % More than 0%
3 ¥ 45-B0 %

4. # Less than 20%

Question Number : 71 Question Id : 3354726001 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
India has the largest __________ population in the world. | fradama d ______ T TS Fad e

Options:

1. % Goat | @@
o ® Cow | TR
= ¥ Buffalo | 49
4, % Sheep | 9T

Question Number : 72 Question Id : 3354726002 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How mary tiers of Panchayats did the &shok Mehta Cornmittee recornrmend? | S HgdT GATT @1 Fwmiat o &
T T A7

Options:

1. # Single tier | UFkd &7
2 ¥ Two tier | T et

3. % Three tier | 19 &€
4. % Four tier | I &@@¢

Question Number : 73 Question Id : 3354726003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is MGNREEGA? | A= 4T 57

Options:

1.p ¥ [t i5 an Act passed by the Parliament | oI 96 &R 01T UF STE=aq &
2. ® Itisa guide line | 7% U feam-Tdar

= % Itisan order of the central Government | 7TF &3 AEEHTE ®T UF A2 5
4. % It isa State Government order | I5 Twd TLHT FTTF 505

Question Number : 74 Question Id : 3354726004 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is Central Semen Station located in Madhya Pradesh? | 7e waar # Hea SR T2 F57 90T 57

Options:
1. % Bhopal | i0T&A

= ® Indore | 32T

3. % Jabalpur | S&EAYY
4 ® Gwmalior | DT
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Question Number : 75 Question Id : 3354726005 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the primary function of ‘Bank Sakhi’ in M P 7 | Feg ndar | ‘s @l &7 W0 F1 F47 57

Options:

1. # Obtaining bank loan for herself and friends | & & 0 T st Fefet & &0 S0 o a0

2. ¥ Encouraging people in villages to open bank accounts | Tal § <&@ TE1 &1 e & W0 @0 & Aiedied w5
3. % Securing emnployment in a bank | &% § TR H AT

4. % supplying tea and snacks to bank staff | =& Tl B a7 3T EFd B g e

Question Number : 76 Question Id : 3354726006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

For testing soil, the Central government is planning to set up rmini labs in _____ | ST 3 Ot % To, g aea o
TRITTATTAT T T &1 =1 &7 21 &l

Options:
1. # Every Gram Fanchayats | Tedd TTH =TT
2. % State Capital | T1=9 & T2HT

3. % District level | F@r g9

4 ¥ Krishi Vigyan Kendras | F faem #1g

Question Number : 77 Question Id : 3354726007 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
It 15 estirrated that India produced approsamately metric tons of foodgrains in 2016-2017 crop year,

according to Agriculture Ministry. | FTY HITET & SIJAR, TF ST AT 27T & T9F R 9 2016-2017 Has o9 #
AT T WTEITg T JoT1eA

Options:

1. % 223
= ® 453
3. % 363
4 ¥ 273

Question Number : 78 Question Id : 3354726008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

;;;;egﬁ;nvgrtilg :fc?llomng had a vision of Gram Swaraj in India? | MeRET # & 9T § U0 T2 @7 Ty T ar?
Options:

1. ¥ Rajendra Prasad | ¥F= 0&S

2. % Lal Bahadur Shastri | @1 sgge I

3. ® ER Ambedkar | &1 W SFEH

4. ¥ Mahatma Gandhi | AFTeAT et

Question Number : 79 Question Id : 3354726009 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The term 'Green Revolution' was first coined in 2l 'Eﬁ‘cr FAIGN mmﬂﬁﬂm%ﬁﬁm

Options:
1. ®¥ 1396
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2. % 2003
3. ¥ 1968
4. % 1951

Question Number : 80 Question Id : 3354726010 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The Food Corporations Act was enacted in _______. | T =y et H arferfagiia o mam om
Options:
1. % 1959
2 % 1983
3. ¥ 1964
4 % 1968
Cormputer Knowledge
Section Id : 335472162
Section Number : 5
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 335472162
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354726011 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The exarmnple for Flash Memory storage device is: | Teldl HEWT GE R (0159 T 3550 &
Options:

1. % OME | 3100 &

2. % Super disk | g ZgF

3. % CD-ROM disc | HiZ-UF Zaw

4, ¢ Memory card | HANT F12

Question Number : 82 Question Id : 3354726012 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

___________ __i5 a decorative text styling feature in MS word 2007. | QRUE. 92 2007 § ________ U& 2@

Options:
1. % Word Font | 92 HI-e
2. % Word Fill | a2 Tt
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I ¥ Word Art | 92 o
4 % Word Color | 92 wev

Question Number : 83 Question Id : 3354726013 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

__________ is NOT a font style. | __________U% H¢ GCI5H 51 21
Options:

1. ¥ Bold | 92

= % Underline | a/=tAA

= ¥ [talicize | SeiewTES
4. % Smartirt | THAATR

Question Number : 84 Question Id : 3354726014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ECMisa memory. [ ROM U

Options:

1. % yolatile | AFAREA

2 % non-volatile | ATA-TARTEA
% % random | ¥E9

4. % used | WgFT

Question Number : 85 Question Id : 3354726015 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is an arithmetic formula in M3 Excel? | aAERET § & &9 0009, UFas § 0F S b 93
BT E7

Options:

1. % ST

2. % HYERFPLINE
3. % DATE
4. % ADDRESS

Question Number : 86 Question Id : 3354726016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

;;;IEIC; tﬁév\i/\éreoir']sgfe?quired for the Internet CONNection? | $ei-c F-igad & Toi T TEamea & snas@wdT gidf a7
Options:

1. # Joystick | FgeeE

2. % CDdrive | #2155

2. ¥ Modern | AlZH

4. % Pen drive | U9 T8

Question Number : 87 Question Id : 3354726017 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which unit in a computer is responsible for making calculations? | T H F @1 AT 0T F7 & 707 Iqadar

BT E?
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Options:

1. % Control Unit | Fgid I+

2 ¥ Arithrnetic Logic Unit (ALU) | sefffe AT e (AL1)
3. % Primary Mermory Unit | WAL HANRT I

4 % secondary Mermory Unit | S99 HOWT T

Question Number : 88 Question Id : 3354726018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

You can open the consolidate dialog box by choosing Consolidate fromthe _________ rmeru in M3 Excel 2007, |
THIE UFEd 2007 H, & _________ ECGH T T T FENeSE ST S15d Gie g o)

Options:

1. % Insert [ 5@

2 % Formulas | BHATT
3. % Review | Tag
4 ¥ Data | 207

Question Number : 89 Question Id : 3354726019 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Microsoft Excel files hawe which one of the following extensions? | AT e T HT5H # T TEada BId] %:

By by

Options:
1. % doc
2% tut

3.9 xls
4. % jpg

Question Number : 90 Question Id : 3354726020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which shortcut key is used to select the entire document in MS Word? | UAUH &2 H q¥ SIFgHT ®1 Seide B & oy
I H e -Te Gl TG il 57

Options:

1. ¥ Cirl+4

2% Al +Cirl+A
3. % Shift+Ctrl+a
4 % Ctrl+alt+Shift+4

Question Number : 91 Question Id : 3354726021 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following keys is used to rmaximize the active window? | FAATATET # & Toog il &7 Ju giged
Tt w1 AT @ & T o sy 27
Options:

1. * windows Logo Key + Home Key

= % windows Logo Key + Spacebar Key

2. ¥ windows Logo Key + Up Arrow Eey

4. % windows Logo Key + Down Arrow Key
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Question Number : 92 Question Id : 3354726022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which shortcut key is used to mmake the selected text underline in MS Word? | THUH 92 H, Heige 197 T $FaE FF
SETFATE F o 1ol T ATeehe ol BT JUATT T AT 27

Options:

1. % Ctrl+]
2. % Ctrl+]
3. ¥ Ctrl+U

4 % Ctrl+AlL+HE

Question Number : 93 Question Id : 3354726023 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Wwhich one of the following protocols helps to transfer files between computers? | e # & &1 a1 e iw e
FHEA! & W WIEcH BT § AERF §idT 27

Options:

1. ¥ FTFP

= # HTTF

3. * FTTF

4. % HTP

Question Number : 94 Question Id : 3354726024 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Frequency is measured in _____ .| ThigrdET (T

Options:

1. ¥ Hertz | 504

2. % Baud | &g

% % Bandwidth | d=ider
4 % yolts | I

Question Number : 95 Question Id : 3354726025 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
& I'ﬂlCI‘DCOI‘ﬂputEI‘ consists of at least an input unit, an output urnit, a IT]JCI‘CIPI‘OCESSDI‘ unit, anda______ T

T Y T O T AT, U AT AT, U NIERIWEaT O a0 F T EAT 21
Options:

1. ¥ mermory unit | BART T
= % network | S

= % printer | e

4 % stabilizer | HelemER

Question Number : 96 Question Id : 3354726026 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The term gigabyte refers to: | &g THTETSE H &1 G956 F<ars
Options:

1. % 1024 bytes | 1024 I8¢

2. % 1024 kilobytes | 1024 raEmEe
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= ¢ 1024 megabytes | 1024 AEE
4 % 12121 megabytes | 12121 AMMaTE:

Question Number : 97 Question Id : 3354726027 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

searching for information on the internet {or simply exploring the MNet) is knowr as: | EOT (AT QAT AT @
TTEpET A 1) T T Eﬁﬂgm AT THHA ETH AT AGT

Options:
1. ® Internet explorer | Sedde THATART

= ® Browser | WI3AT
3. ¥ Modern | ATER
4. % Surfing | |

Question Number : 98 Question Id : 3354726028 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following characteristic(s) of cornputer make their use attractive? | FET &l FHAET § 9§ B 9F
TerdmaT Seer IO T AT AT B

Options:
1. ® storage and retrieval of information only | T ®T HEHAHS RO T NETEae (I 7TTE)
2. % antomatic operations only | @dd HTCAE AT

3. % accuracy and speed only | TIEAT 0d T
4 ¥ all of the above | JUET T

Question Number : 99 Question Id : 3354726029 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Excel, the content of the active cell is displayed in

Options:

1. ® Footer bar | et &K
2 % Tool bar | g &%

3. % Task bar | THF &

4 ¥ Forrmula bar | BTHAT g€

Question Number : 100 Question Id : 3354726030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
________ is a type of page orientation in M5 Word 2007, | TAUH TFad 2007 #

Options:

1. ® Bullets | geigd

2 ¥ Landscape | Weqg#y
= ® Clipart | famsmd
4 % Macro | BT
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